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[ 2.Bma (esdio) I,1I o ok )
shiEsd (Cwansuseswt) I, 1K apsigy weafgFhLTeoD

{ Music (Western ) I Three hours

S )

woBms (gudén) / smdsh (Cwamamstzw) / Music (Western) I

[ weBe camB/ppdalunb/ Note :

(i) Bag @ gdmOcd BEnc wuusim.
aiseon  ellaiTbHErE@h el HHS.
Answer all questions.

(i) 1-40 em= gdmOE (1),(2),(3), (4) BExSOES RIE el ik wrgevm owd B8RS enidh wzim.
1apast 40 suanpwisien @eibang aflemeliigub (1),(2),(3),(4) een sTamtemiL iUl L aflepLSeilsy  flumssig
osoezl SN QUIGSSOTETEH o BhissT &GHD @6 elmmud GgfleyGaruliss.

From cach of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

(iil) @20 mwewn BER vyed & &nf gdms agwm & 6B 90 gueddl BB emice o S8mol ol wreEYd
2do e (X) cans ewegsia.
2 @ auphslul. Been el ssrefs @ataurng alamabegd 2 flul el Lmsaflsd 210G
ol ulsr Gevdesms @55 alLSHgushGm Usempenw (X) B6s.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

(iv) o@ B8mur vned Boon & g8 qgems coees ¢ teSEed odm.
elenL Sanafer TpubsbSed SIOULGsen LHmDL SHDISHSHEOSMENLLD HEITLOTES arflGg Seumenpl
U edimmiss.
Further instructions are given on the back of the answer sheet. Follow them carefully.

\

1. 2 B 8é0wd $e0R 080 Bdexivds gedrier vwnm wewss €0:8323 RS 7
syt @sien fab @be Ffwure syb Habamisy Ushalbaiataubols 517
Which of the following is the correct time signature to the given rhythm?
3

e WA

W @ § 3 4 @ 36
2. 2 g8 @b om elplies $58600 0t ogenm @0d Drfert vun wgwes S80823 283 ¢?
gyl Gshen ury Bevenll LWIsdH Qruiashe Wel GLT@SSTe Gredlr Uisiteumeusneumplsit 6157
Which of the following would be the most suitable rests to complete the given bar?

O == “@ 1
= L v
3. B902 © B gif B Bdewlddn sunm wewest SE8sY e ¢?
Heraumd & Aseanss) capeit 6@ Fums epsii Gsieng?
Which of the following key signatures is written correctly?

O T ¥ Fa T ] %'ﬁ !
o ERE= o =T o BERE « B

i

ke

[ 2 &5 B0P Deam. / ub. 2 gl unies /See page 2




OL/2015/41-STE-L, II -2-

4,

10.

11.

D e®ecifs @8nl 8 dBSaid On mpedine BEeORD vun tgwst SD18y] @ ¢?
D Gieogd soipen Seir FlSiowisih Bis ylyisem Bems ehieumeuansuipien ag?

~~Which of-the following is" the -submediant of D melodic ‘minor ascending form?

(1) G flat (2) B natural (3) B flat 4y G sharp

28e@08 S @widE i ect deind we wiSerd L esgwys’ SHuBl s ¢?
@ELwsigg”. 5 g Reibras & dufisss mpws sdeumeastsubrs 57
Which of the following can be described as an Augmented 5% interval?

- e
() fey—2 ; 2 Hey—F——
[Y; i e I

h T [ 1]
®) b @
3 T .

[ Y]
ofensiD 4 @sE Sord gibbns! O vwn ogwsl FDls] o ¢?
CuGus’ 4 Dt BehBroucbmemstt ReCouret s omoam Udaxpousmeummst orgy?
Which of the following intervals would be the inversion of a Perfect 4™ interval?
(1) Diminished 5% (2) Perfect 5t (3) Augmented 5% ) Major 6%
A B8 nedd guitlingt de eudmuid Jul O svn wgws SD8s o ¢?
Ueiuple Lywl sensit aml A pioal] (passoTeud @eCaysed @elt QLmAemaBr . @En?
Which of the following triads is the Dominant triad of A minor first inversion?

OF =} = =0l -= ===

s ogws Sl euritediBs derdcus Dfes’ o ¢?
GusirGrefis sbbas & Sewag Udeumeraanbst g ?
Which of the following would be a pentatonic scale?

= OE SS====
[ i T ¥
) 1 | f) ] —

OF ===== ) SE:—I.::r:r:ﬂ

g 18 wocded Sxiwie®rfs @:focHd dn sun wews! S8y nex 7

eci!Uo

SILUCL sosuruseils slsqupniGoneils Fa@amoen Ueeimearsmeummlst asl?
Which of the following would be the enharmonic equivalent of the given note? P

D= o= o= =]
ror - b%

8888 Jud S emBaied ovm wewsd SH8s B ¢?
Uenmel] Loull Qepre LGS Teeumd LTWLSEET 657
Which of the following triads is not a Primary Triad?
n v (2) VI 3 1 @4 v

e®8 ePDsHs S0 DO VLD LN BwY ewsl 855 e ¢?
oL sCLeed @b el QuUIEbssmigut FnmE emaanambrst ag?
Which of the following statements would suit this cadence most? -

AL, (1) Plagal Cadence in A flat major
.‘S‘JU},"" {2} Full close in F minor

[ ¥ | (3) Amen Cadence in F minor
I (4) Imperfect Cadence in F minor

J

[3 88 860 Qeadm. / uds. 3 gt uniss / See page 3
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13,

14,

15.

16.

17.

18,

12.

28000 Dmmnard edewmed & ewic eMRBm oDzl qiebiest sun wewy JHids BB ¢?
Fuds arsdusdar SnSuish LWELBSBILLTS SBLead saGauameabme 6g?
Which of the following cadences are not used at the end of a musical sentence?

(1) Interrupted Cadence and Imperfect Cadence

{2y Perfect Cadence and Plagal Cadence

(3) Imperfect Cadence and Perfect Cadence

(4) Imperfect Cadence and Plagal Cadence

@200 Dtk et Befod wom mne Bun egwes SEi8s 8 ¢?
Vss Aptns QenCambmrensy siufiiug e smboimbenst ag?
Which of the following statements best describes a sonata?

(1) An introduction to a more important work

(2) A work in 3 or 4 contrasting movements for one or more instruments

(3) A work in variation form

(4) A workin 3 or 4 contrasting movements for Orchestra

editets emd® vert $m0 Credn culvais:s Do wun sl JD8sf 3B ¢7
‘CgmanBLr Guniy’ Ssd sneoiuGeis Useu@n Gwsdlsensh o7
Which of the following features is found in Rondo form?
(1) Episode (2) Transition or Bridge passage
{3) Recapitulation (4) Development

eetd 2580200 et Dxdes! ton wgwsl Stidxl e ¢?7
Uelieipeusraupmist & @@ eofifs Gaurlr’ sy@n?
Which of the following is a String Quartet?
(1} A Vielin, a Viola, a Violoncello and a Double Bass
(2) Two Violins, a Viola and a Double Bass
(3) A Violin, two Violas and a Violoncello
() Two Violins, a Viola and a Violoncello

cmdt guifaiy eelm giwise @@ ¢ 0s dbow wun ©gws S8 p@ ¢?
sieugmd Bm.& amsseEpst o5 oL @hIu Bmsuls CFlars@sd -l ighsang?
Which of the following types of drama is influenced by North Indian Music?

(1) Nurthi {2) Nadagam (3) Sokari {4) Kolam

288 omi® denx’ By AP S8sun Sands ece meensien swum egwsl SDBs R ¢?
SIILCL  @ens 2 @GlugsErst ‘muard Guiin’ @ SLREGD Jmaibg bLatssiagio @ mLLLTES
SESUILGaE Lsaimalaneubssy an Qi@lb? ‘ -
Which of the following compositions consists of a group of dances all in Binary form?
(1) Surprise Symphony (2) Messiah
(3) Water Music Suite (4) William Tell Overture

2 118 8e3de endewrd ¢ gries cwn wgwes pdm B0 dewnst ¢?
sieumd @imGloahEene om Bmesstu L wr@fleowd TyAPdsseouGasang?
Which of the following ornaments represents the played version given below?

J

[ 485 B09 Beaw. / us. 4 w0 umsEs / See page 4
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19.

20.

21,

22,

23.

24,

25.

26.

27.

28.

g 088 8 30 cum W vdd o D05 vom weps? SD8s e ¢?
6

- g &AL - Q60 - LiB-- (HLF). -@spflsngib. Lisberd  gaidlengnd Guorend ClshiaumesmeubmeT sg?

Which of the following would be the value of a beat and a pulse in gtime?
(1) Crotchet beats and Quaver pulses
(2) Dotted Crotchet beats and Semi Quaver pulses
(3) Semi Quaver beats and Demi Semi Quaver pulses
(4) Dotted Crotchet beats and Quaver pulses

emic® 28 wew enig oslen eRce vwn acwsl SD18x) e &7
Ushieslo Cosmmusemsit SiHeT0e Blo CHr&HAlsd uTEaushHel LU BSSILGE 65T
Which of the following drums is used to accompany harvesting songs?
(1) Bummadiya (2) Getabera (3) Udakki (4) Rabana

miendn wddmed & suig oxfon gium eR0e @S ¢?
SIEILS FRSHHAD LsGSSILED Arsren Gwsmb Usieueiarsumsit s1g?
What is the chief drum used in Karnatic music?
(1) Tabla (2} Maddala (3) Mrudangam (4y Thammattama

OO0 @riBnlidus Dfest vwnm wews? o8 St ¢?
LMMEBTL B FLAIGHEHET HInrs: Denoalg Lsheumensnsui el e1g5?
Which of the following is an upcountry Ritual?
(1} Kohomba Kankariya (2) Pahan Maduwa
(3) Devol 4) Gammadu

B Omes Doy g 80 Bued @ v PBemdRd ghunlds Buem! oofE 8 vom st JDuBs! e ¢?
Uehieiid LurGanm GuLs&Ems a8 6 & Bmar IphHIbCuTE ssbsor sfmisrosEmd oglfabeE o alem@ib?
Which of the following piano pedals let all strings vibrate when a key is depressed?

(1) Sostenuto Pedal (2) Soft Pedal (3) Damper Pedal (4) Una Corda

qoay wmiea Dxiest cvn agnst 9DEs @ ¢?
Wsheupsrameuitstt Heupren dnim e1g?
Which of the following is a false statement?

(1} The Trumpet is a transposing instrument.

(2) The Clarinet is a double reed instrument,

(3) The conductor uses a music score and a baton.

(4) The concertmaster plays the 1% Violin.

soe ® 888 oo ik ddert s wgwsd $D:84 8 ¢?
S Eauflar amphs UTGER GIensus Cenai g Usaamemalbrst am?
Which of the following is the lowest type of a male singing voice?
(1) DBass (2) Soprano (3) Alto 4 Tenor

Dulmon B o guiedesy von wewsl J018x7 pERst ¢?
auledslr gemisy Amhs adfifsab stamiuGag Uanimasmambiet adlsh ou@b?
Which of the following are the open strings on a violin?

f A -
0 P — 2) % o
v = ¢ o
¥
@ 4 — @ A o=
| Fan (& ] |
b L W [ %]
o *© ry,

8. 0. widE 883 68008 we @dediburs drlewt swm egwy Joilsl p ¢?
emeumn grbpriCursenst g of.oeh. ansbLsd Hemsd SbESUILL QGHHEME?
Which of the following oratorio is composed by G.F. Handel?
(1) Christmas (2) Solomon (3) The Mount of Olives (4) St. John Passion

Baewit Hocdy ci@ed son wgwel p@m goadt g7
Lsitsumple STaokisEne aalsy DwunGanm sem® Chpdslin L g?
In which of the following periods was the piano invented?

(1) Baroque (2) Classical (3) Romantic {4 Modern

[505 800 deaa. / us 5 gl unjies / See page 5
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29.

30.

31

32.

33.

34.

3s.

36.

37

esom egpst eodnw bl enedyl Buld 8d dLOBe’ ecw 0188 § woBo@en =80t ¢?
SITUL L BepFLenolUTenTSHenet ‘S gel préerin’ e opfiwitul gl wiry?
Which of the following composers was named. as the ‘King of Ragtime’?

(1) Bartok (2) Britten (3) John Adams {4) Scott Joplin

2014 & B Gomoed goeoas gtlfed g §rn-190wiy HoBms tun Bgwsl goeost ®H0S ¢?
2014 sub GeiE Beotmasult Qeefms auphsw @SS - olfiEs BoFasigen) JeeumGsundmst wi?
Which of the following Greek-American musician performed in Sri Lanka in 20147

(1) Turnage (2) Yanni (3) Negron (4 John Adams

DD edemifcem Diems ne viB swg @ HOds LoD wewD &0t @ ¢?
paren CrsGarLfls Bmessssds SNP abaJt H5 MO sTsumeusTauBmIsT 61517
Which of the following is the lowest note that can be played on a Descant Recorder?

9 ! 5
(1) ey @ A 3 @ o=
v ho v o o ¢ o

BOED Didmbied ‘BE0E emict’ miBe guinbion Gendd sun wgw S0l 28T ¢?
fram ausCanflsh ‘amgisd Gamrad’ Hbssmss QaEneiigmaah giiturm Lsdanbaamapms 65i?
Which of the following Opera of Richard Wagner has the composition ‘Bridal Chorus’?

(1) The Flying Dutchman (2) Lohengtin

(3) The Ring (4) Tannhauser

SEecEd mBem 2562 ednmen autens sun sgws SD18s R doded ¢?
SIUULL  ebauhisEnel G boaeE 256 sifliaymeisd gpemend OsTediLg siabesisubmisn a1al?
Which of the following notes has the frequency of 256 vibrations per second?

Q_ .

— -
N — o F=x o F—0j @ £

o8, 0d. Auted 48 etBadel ww By mBed bl Ho8d S Bvn vl THulxf 8 ¢?
Copearbung @eng 48 Uflgmiert wpge Jysst G Qevsuiom ghp Gl uresl Usmaumsusnaupmsh 617
Which of the following style of music is evident in the music of J.S. Bach’s 48 Preludes and Fugues?

(1) Homophonic (2) Polyphonic (3) Monophonic (4) Dodecaphonc

BDomegndm Sicmxs me BB drler vwp wgwsl CHi8s @ &?
gEaopT (usbeluib) @anfieansd Semabsbhisgl Feisnparsnaibmst egl?
Which of the following is performed by an Orchestra?
(1) The Flute Quintet (2) Piano Sonata (3) Aria (4) Violin Concerto

36 80 40 e g v & o wdn DED0 B ve® o
36 Oz asn 40 suemyulsiien eflemmbssi eeus Banatl GLITUsoL SIglspLWLnSS sl el
Questions 36 to 40 are based on the given extract of music.

Moderato 2 3 4 5 6
= SoEaar i
SRR e
Hf § fr

g g1 ©:8p Dedded ede3D 88nl On vun wtpnl JBiBsS @ ¢?
srim L @ensl Guuwitnied fGebpiey soicewl FemeumereneubEIST a1g?
Which of the following is the relative minor of the given extract of music?
(1) F sharp minor {2) C sharp minor (3) B minor (4) G sharp minor

0890 t3:8> PeIDed g BUMOHD O v wgws SDBs R 7
Bbs Bosulsh Udach @iaboaheene ag sremiLGaBpg?
Which of the following ornament is found in the music?
(1) Trill (2) Mordant (3) Tum (4) Arpeggio

7655 600 Dedw. / ud. 6 g uTiEs / See pag_eé
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38.

39.

40,

4 O Al derf JEEO Lot OTmud® swn s Sl e ¢?
uny 4 @er fuGson @simfisir Qupionemd eitsumeenaubpIsh o157
Which of the following is the value of the triplet in bar 4?7

» N @ J ® 4. @

b 18 g8 o ewid om vwn wgpsl SD8s nex o7

ury 1 @ewelien 1 syeugy Ganl Usianmousmaubpeh sig?

Which of the following is the Ist chord in bar 1?7
(1)  Supertonic chord in F sharp Major (2) Mediant chord of C sharp Minor
(3) Dominant chord of E Major {4) Tonic chord of E Major

& 18 280 deddo By w-Bomued womiBmass swum wcwnal qoeos wEd7es ¢?
Bell Qemad D bR FIoHTN anbCHLETTIEN (Gt Nsiemammen wimeuy?
Which of the following are contemporaries of the composer of the given extract?

(1) Mozart and Beethoven (2) Bach and Handel

(3) Scarlatti and Mozart (4) Mozart and Handel

#

J

[ 708 609 Dese. / ud. 7 mi uthds / See page 7
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aluws ewg wudn oy (@@ms evg) Swiws, 2015 e @l
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General Certificate of Education (Ord. Level) Examination, December 2015 )

@B (gwdin) 1,11
FRIBEHID (BLosns0HEHIL) I 11
Music (Western ) I, I )

2:B8mi (godton) / smdsb (Cuamedezw) / Music (Western) IT
Sc8S pdmaed v B i eDoDD BRnd 0P ored ® swusin.
@d0 pdm vnod B8 O MBDBS odand wiode gnd.
apEeomb efemeiE@id Gognh g aanssapsol Bhsramlaty almLsmet aipdis.
efleansHiansmnen oL Saman g GuomPuist wisBnCw awaisst CaaiBid.
Answer question 1 and four others on this paper itself.
Questions should be answered in one language only.

W(

e .:}C'.

[ Swo gqomes /st GLes /Index No. ... )

(ii)

(iii)

(iv)

(v)

& 18 e dor3 B me®@ifs 08mded B8 om0 O Susln.
SO L HGertsi @sv B amnjluneis ey e sfigm GETL g spSHIS.
Write the leading note of B harmonic minor in the given clef.

p=

g o8 SO0DE guusid o®in 8xfac eded oo Budis.
syt Gemis @6 (svaurmisatilsn) GUDITMSSDEG Fwsme Sl Cedl & sTpHKs.
Write a single rest equal in value to the given notes.

‘BB tets’ ewd ‘desidiziet’ enled®n’ uyd O Bg efvnwd evm YO wgwr widn POD g ewLe
3@ c?

‘FHBILELT Sisbeog ‘mevaemCLn’ etsigud pBunsnsaiibel deeny wguigud SEbs BaiababE5
Catei sumasBEl UUSLESSIUGD Bdsrelu Usld wWTH?

Which Italian term is used after ‘Ritardando’ or ‘Rallentando’ to bring back to orginal time?

Demetned me 8m Digm 963D greds’ Higmo me BSD0ed Bedd tmi engz vE WO wodm wrestic
2@ ¢?

@Osabprelen shaill flelen BpRbus seaseia amsulsh SmoEs absd sGel Gmsbsiu’ L GBI Sgubd
uTids EThbe @ @Hers & gelsslsma”?

What is the instrument of the String section of the Orchestra that sounds an octave lower than the note
played?

o8 Wead 055 =6, &€ ;B dde Duedifs ecefedis omd guEs Burim. ugd 98 ¥Ddwd evEs
@Bl 3 @uItdE S w00 gden H0Cn Gusim.

Guerd SGemal @ LWEILGHS SIUULGsten CEIL & (ebeurdend) Lwpbpralds GeliGrrer gsimienen CoBso
sipsHs. Jeieny oSibEET IonE Bwés Cuer 3 Balrams sisGasDGd Csmeuursn BT g2 AIRSHIS.
Write a note, a diatonic semitone above the given note in the Bass clef. Then write a note above it to form
an interval of a Major 3«

)Xo
.4

J

[ 8 88 B9 feaw. / udk. 8 gl uridas /[ See page 8



OL/2015/41-STE-I, 11 -8-

(vi)

(vii}

(viii)

(ix)

(x)

®

(i)

- e16be0n Gogal, enwem 2 aysugt 7 Sieugl wHQLD 6EdeT @EOLERIL, el - GMBrasiEEnl SEpESULGMS,

2. o®@® dedded gu g8 wbT Buxim.
CoxmeuILbAamerrsy Bbs sOBEEMET NHIS.
Write these scales as required.

HO0F @mdd ce mown.
Bug @ o885 w 88mY 2618 ww 1018 w1 Bug © Bde®@xion w HB8ED g0 vewdsias),
gflwirsn L lEGst GrulGs.

Tick the correct box.
Ail Major and Minor 2™s and 7% and all Augmented and Diminished intervals are called

Concords Discords

‘BedBewl escid 0 mg toBowmw »m8® mdxim,
e sdBuwm guELGrams Semawemiogs Emsausoenanflen GLweny 6r(psIS.
Name the composer of the Opera ‘Fidelio’.

F motd @8m0ed, eth@metd gud) ded 2018 9uidtlianst oo 8 Bdexidde eon®180 Goslx.
F agmil enwenflsn QLmfsmein Cpwligsr 2 b Gai@auisst g & HeGass] Gsteonosd QSIS
Write the Dominant triad of F sharp minor, 2" inversion, without key signature.

[ Fan
"4
e/

E0E C 80 G, we®rSs xiodd dnm w el 9uiodE vm ece & gif dedded Eduln.
whged C @elmba G sueng ammlorsis Benbreust symatc CuoGromgs SeBrsusoraab Sy G atBrsy Bt aBHsis

&T_Hk.
Mtustrate Middle C to G as a harmonic interval and a melodic interval in the given stave.
0
r 4
Sk o
[ )]

20 wdos w T vinest wdn v o8 ot
BIL% @emFwler QHTLIYULL. @5 CUTsEsar Rmsds spelamus (Camsgalaws) @illGs.
Name a percussion instrument associated with Nadagam Music.

E dc© oBdl terden 8R0:308 03 @rdedbu avedines w ededine 8800, aiiBed=iosE vl md
B 8desinds exn@&SE Fudecd 8 Borlm. delid emien cadedds crne mosim.

E Uemm’ Goggy sivBaedilsit g @6Cre @ owlimsan, omiirsan qupridhe omow obd0L ammert LaTuEss)
F 2Qemsi @sb & AbBouse) @edsorosy 10afbet @ed slp@is. GCef@ynadimmst amnenBanGasnsnt (FGsofsr)
LuaLBss UG,

Write in Minims one octave ascending and descending of the scale of E flat major, using accidentals without
key signature in F clef. Mark semitones with slurs.

o 4 B BFeridcud o8 wediSd 08mY dedce ghedlnea BEOED T g 8¢® 6mD amd
G decd 8 Golm. gl 2ol O tien 60D owig dabies montn. el enit eadedds e mduin.
BTsY egnflaenLe & HbCamssmrs Qerai avribuonais ey soGsmss osulImsan quprash Syiul e
fist Carsogdhtenu G HCme @ awsns o U @ &EHS Oretlserls UIeniLGsss. HGaisth
ol udLGsEs GelGneasamands Giulfs.

Write the descending form of the Harmonic Minor scale having a key signature of four sharps. Use the given
rthythm pattern and write in G clef. Complete the last bar with suitable rests. Mark semitones with slurs.

‘H“B’J_ﬁ“‘—m—i——i' : |

J

[ 908 ECD Qeno. / ub. 9 @i uNés / See page 9
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IndeX NO. & .ooiiiieir i eiienananiisanacaes

(iti)

(iv)

(i)

(iii)

(iv)

C moeto @23 ed®m D ewic 0dd todced AEedd tms gredines B829eD Burim. g1Eets e ©wids
FoYett o

C agmit) @ish aupbilsn Cantsaubmsr adbaedsd @i gdtrme HBINHEmM UG peomuliisd s1QEIH. sbEgT
Hsmel g1 LWSHIUGHSIS.

Write one octave ascending, the whole tone scale beginning on C sharp. Use the Alto clef.

080 08cdu G 885k B e B sew, ebaxs 06 pifewss aBedHOE evigsim. & SderiDdus widn
emD0TiE.

GbGwsog G @afler & Ged BhsEHEH6H1E CHI e BBEG e JUDNESS BHemeulLIBD
SEFOLdysosmen Bfs. & HEBmFFanrl LWUGUGSS Beues mb.

Put the accidentals in front of the notes which need them, so that this melody will be in the key of
G Minor. Do not use a key signature. '

I P S— ]
il 2 | |
> 1
Sedomd 0 g8 068 gui0bE Buxim.
elufssanm SeCrousosamne s(pGHIS.
Write intervals as described.
y :i
a— 5
(Y] = (3]
‘,}: f.-’}: e
Perfect 5th below Major 7th above

s 00Ed ol Budnd adxim.
i@ Gprafls Lywl Gasmen aflufldgs.

.Describe the following Tonic Triads.

@ (®) 33—_&-%
-

ilaiond

2 8 o8 680 cuewid nd 0B 008 exxid w8yl mdisiy.
Syt Geen Gusry GpLebament LWAILGES B sGLsNadHMmAN LFalLBHEs.
Complete these cadences using the given bass notes.

E)g # |
[Tl % 1T
—H lm:" }l
I'!\'\ u NI
o) [y,
Lk L
. )b
il L. 37%0 F Bl e
r.d % [ @] hl LA
7 I
v VI v

2 B 08B Aedd S gwst edemidem Digma me vl gulsl Gerin.
SyLLLFeen Glosugemw g @86 2 _wisuns gresbBUTed OFls gm CNECETLfld BOFSHE5SEEEHTE TIDSHIS.
Transpose the given melody an octave higher, so that it can be played on 2 Recorder.

Moderato
- #
'_ -
Iﬁ I ] 7 2#? ~ ’ 7S GO Y M |F
> B I Y i 5 T r— i 1

[ 105 Bp 6eom. / b, 10 g0 Lmjéa / See page 10
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4. som wcwst 98n Saida gdsama W, g g sEndeEd 88n0 vuwmm,
Hesump Glens bl nisamend &mml, S6p sriul (Beien elamesgpde ol eSS
Study the piece of music and answer the questions given below.

Allegro G.F. Handel
¥* 2 3 - I 4 %
’—\\ . - ., - .
o
) ol i ! ! 2
—
f S 4 f
> . . o |l
SE S —F = F———F
T ]| . I{ !
5 ———, 6 7

,.-—--/\_—\
LN
ﬂi
%]
L 1.
|
g

AN
I
£
% .

|

A [
\

1088

¥
k)
e AT
v-
— T 7

19 . /«#.21 /f;;‘ﬁfzzj‘:é'i-gf_—

= =
[
CYesé. ﬁ
I XX, .ﬁ' i -1'- ‘..' — = . 1=
) ' : ; 5 — e —
| !
23 24 25 26 27

|
4
y
Y

L IR T

[ 11 &% BOO Dese. / us. 11 gu unhés /See page 11
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M

(i)

(iii)

(iv)

W

(vi)

(vii)

(viii)

(ix)

x)

@08 0.5 dedbed e B O »® ndsim.
Bel Essman_sss Grrels £ @een QUUAGS.
Name the Tonic key of this piece.

‘mecen 8 edo® @ ¢?
‘oo lIT sdLGeT SMbH WIH?
What does ‘Allegro’ mean?

ol 6 -8 2591 B O mp®ed ¢7
uryer 6-8 Bl & wing?
What is the key of bars 6 — 87

268 Bdestdds BO0? Homed ewig, sgf A On 088 Bderiddud gmd eredofedd (¥) ewig 8
eddomed edede w08 wdplies woxim.

s Aslamssey sfuner srabHsd BLE, sbsbu (pHeoTaig LT & wogb feEGaFFmad gbu BLEHSIS
U L (¥) LwsiuBhe, Gredl/OpsdlebsEnt o LIemiLGHED.

Insert the time signature in the appropriate place and complete bar 1 with a rest or rests according to the time
signature under the asterisk ().

@015 Jub dort ee B euiobas Om, 4 015 S der vef 30 O egdd @mddes ewic®st B ededded
088 w8pbes mdmim.

Qyredias L pwin gt 2 b SeiBeauorenen 4 Gieugl Uy el (LHSHEUTES! Unmre @BrrsF Gam GHmab gl LweaGHS,
Qysol. / Qe susEhlel LLIamLnGHalE.

Write the 2™ inversion of the Tonic triad as the first beat in bar 4 using crotchet notes and complete the
bar with rest/rests.

ogac Heed teors, G 00ul dewfes aredhnen BEEDED woBuxo eosmn® mom S g eSOzl
Gmist Heemsi Get o_siisn G Gomy ebGsellsh EyTEE HUOBIG (apepuisd FRESHMBE STLHD L] aeiismans

H[HE.
Give the bar numbers where the music indicates the ascending form of the scale of G major in the Treble clef.

e88 B AeDs COn B BBrEmed edms melu 28 wdzim.
Bs) BmFsEEALHme Baosumoss Bmsasiguanfle Caubprm Brae GG,
Name another work written by the composer of this music extract.

..........................................................................................................................................

@00 .80 DeEba B grfen 88m8 0ni® e ¢? SimbB oni® S ¢?
@y @eas SeaLib eusns Guyfisor, Gremfl Bumiuieor SR HULIL (Bsiengl?
Is this piece writien in Binary or Ternary form?

2gaE 000 8 @l 1 m 2, e8BY 28 oE »E B Bderiddn evigy Burds.
Gpietr eoByel @er upgeomd By Lnjsenen Goggy 2 B Hp UHW & H&BansFenyll UFSLn&lsE 610055,
Write bars 1 and 2 of the Treble stave, a Major 2™ lower inserting the new key signature.

| K
ok

()

080 omid Smes (B¢ HS Y O/ 28 .
o ol Gprl @olums Brised owgidlssssss Uy / unfetasmen CUUIGES.
Name a bar/bars where you can see a tied note?

»)
[ 12 & 800 Dedw. / ud. 12 g unids /See page 12
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5.

(i) con agwsl &b 8 g8 €06 B8N ©. dews edefded miedd w6 artest ewnd G groes 10810 @. v

(i)

(iii)

6. () om0 cerlud gud 88nd; Swnws ewpees § B 08ciie wdyglie wowty. vigess e08eed, ogf.

ot Oof RO Bog 8108 SNGT 208, T o 088 8dewtosud amd edgbmenst oxndn Gwelm.
eitenmid unjasied Bprerbmsit FRLITaNENEY, Spamad Qe st LMmpUITSS Sl LIoTESIULE Si6bvug eHIpSLLL Beftemen.
el 1y gy HIOULGsiten sogd ASCaFFMES gL aevevTl mpssemuyb HmsHH pgsnowns sfiwirs
SmULT spFIS.

In the following bars, the notes are correct. But the rests are grouped or written incotrectly. Rewrite each bar in full,
correcting all mistakes according to the given time signature.

@ ——— .
o5 & 1
- 7 - \i.y |

(b) Fi] 1 ). 1l W i 11

(@) & B e@cBud HedE 088 Bdextodn v @i 8l emesdm. du g8y Dent grzweBed SndS.
SIOU Gsiten  Giosvipd  sflwnen  sopic  FAECamFsy  wHBD UT]  eedmmens  CafEE. B @F
SibmEGHAIL 2 1 61 QFHTLRIGESDEL
Insert the correct time signature and add bar lines to the given melody. It begins with an anacrusis.

(b) ov> () (8) 8 1B otcled S5O Ddmu® egens ¢ Bt 068 Bdewldds emigy wwm &
g5 fodd et wdm Basixm,
GuGev (ii) (2) @sd Syt Bsiten Guosoguisht Gpm’ saflel GUEIOTEIGMS BELLASISS, oHmas: &6
SILL_(Baten e0Brel @er 15gy Fflwren eppip AsCandsangl) LWMLESHS Hoind s
Double the value of the notes of the melody given in (ii)(a) and rewrile it using the correct time signature
on the stave given below.

;“'
h.
i

s
[y,

g @B e®ctis evdle wodn SO008 Burlm.
Sl Gomgeil Samipstsul svarstarsaiulins (Gpm Greais) aupss.
Write the given melody in oriental notation.

e IF'-

00 D88 vema o8yl e@cBud @ ewmiesim.

@6y utenfullsy ysiaefii IGrevmwF Colida SIOULL GCiosvigenuirs LUIeILUGSEIS. (P Obans@Gn 2 &b
QubGur, N8rdm, mLals fuaplar eiuiGemms Galds.

Complete the given melody by adding an answering phrase in the same style. Add suitable marks of ternpo,
phrasing and dynamics to the whole melody.

E YA

o5
Rt
= ==

-

A
[ 13 &u5 898 Deaim. / us. 13 gm0 uniss / See page 13




OL/2015/41-STE-IL, 11

~13-

given statements.

() qom @wg B onm 18unedst B00f BEad enid, § B RGEld O1EenD gomd CRR iz,
&B srOLL Geien GeodaL L. uligpweledgpba sflumet sflenLemis OSfaGaiig), STULE G bpsEpsGH
GUTEEHSEIgL BeobssmEs GHULHE.

Select the correct answer from the numbered list below and mark the number in the space provided to suit the

A The composition Symphony No 40

Rooted in African American Blues, Rag time, Swing

A play set to music with scenery, costumes and acting

First movement of the Classical Suite

The composition “The Well-Tempered Clavier”

Triumph March from the opera Aida

Gma|glo

Programme music based on the environment

Polish composer, wrote mainly for piano

1. Allemande 2. William Tell Overture 3. Mozart
4. 1.8, Bach 5. Chopin 6. Opera
7. Verdi 8. Jazz styles

(i) eseom (a), (b) @0 (¢) @mDSOE eCoe n@ s emidh onim.

Select only two parts from the following (a), (b) and {(c}.

eom oo a8 Bg e-dowdst BEAg g a8 emidns; eBplie mosim.

eiaume oybshmsis oG uHfll SHaSMmETY LILILGSSHIS.

Complete the information required of the composers of the following compositions.
(a) The Composer of ‘The Clock Symphony’.

Aersumid (@), (b), (€) @du ugdsaiadmbs @stigamen WIGHNE CEfMCEIH SHWEIS.

Name
Nationality
Period

An important work

Full Name
Period

An important work

Name

Nationality

An important work

Contemporary composer

(b) The Composer of ‘Trout song and Quintet’.

Contemporary composer

(c) The Composer of ‘Duke Bluebeard’s Castle’.

Period and year of birth

Contemporary composer

................................................................................................

[ 14 &® 869 fed®. / ud. 14 gl unjbss /See page 14
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7.

(i) oo § o8 o odg yee 8¢@0s s80 ®gw), OO O 23 58D s & aB Do Bosim.

(i)

(i)

Lurmaswren flsbsenea syoulL selmsuia aufisanst Gurmasonsd, STUULGsTen et fiasdsn i
2 _eften QFTHEmeT SHIHHIS.
Match the lines of verses given below with the appropriate rhythms and write the words (syllables) under each note.

(@) -H—g—J j o J .h | m-}——:z—ﬂ

@ Daisy, Daisy, give me your answer do,

® Pack up your froubles in an old kit bag and smile, smile, smile.
® Rock-a-bye, baby on the tree top.

@ Puff the magic dragon lived by the sea.

0B § 918 onid guiBeauitd w8n ©d, eBd £Od geey qoont 88O Bu, son S @B wdn
Aefdn wBnbies mdelm.

a6 Srouc@eien Gan @emeSsFmen LWELGSHS, Busd GEM&amsn GUIGSSWTE GBJL GO I SETHL 51
sTpGIeSHE cpsuld Tesugsausasubonnlt LIanluGhais.

Complete the following by writing the bass notes in the appropriate time values using the chord indications given

below. :
/-——_—\\
5 3 . g
[ £ an Wall & I [ )
<y .
» - - — .
e ~— F"L;_,_.-/ ﬁ"'
o ):
75
i ib v \%1 iib A\ i

(a) edrsietl eol® o, cipwdames @8 Bund mdsin.
OrrenGn  Gumb gy o FTTENSELET alufEgs.
Describe Rondo Form, giving an example.

(b) 0e30 GEBOHD ecd® O emSewy! Bund mdwim.
PFeoToug  pskGlosis  Gurfenl  HGGELTE  alufless.
Briefly describe the First Movement form.




